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[Abstract] The program of the adjusiment of leveling network and traverse network in

PC-1500 is transplanted to Micro computer. And the results of the adjustment is outpat in the

form of the result table of the control points,
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FEMEKERMFEERERF (LE-TR)

GOTO 100

FOR D=9 TO M% +P-1,IF C(D,0)=A THEN RETURN

NEXT D.PRINT “ERROR IN DATA”,STOP

Pl# =3.1415926535#. T=T+PI# +L({, D

IF T>2%Pl# THEN LET T=T-2%PI#,GOTO 8
X=X+L(,2)XCOS(T): Y=Y +L(I,2)%SIN (T),RETURN
N=Z(L%)-1,FOR I=0 TO N,READ L(,0),B#,L(I,2).PRINT LI’
0),B#,L(1,2),IF R=2 THEN LET Y# =B#,GOSUB 180:B# =X#
L{,1)=B#,NEXT L,IF L% <P THEN LET C(L%,0)=L(N,0O)
A=L(N,0),GOSUB 5,H=D,A =1(0,0).GOSUB 5:.G=D

IF R=1 THEN LET X=C(G,1).GOTO 15
T=C(G,1D+Pl#.X=C(G,2),L0,4)=X,Y=C(G,3):L(0,5)=Y

S=0,FOR I=0 TO N-1,5=S+L¢I,2);IF R=1 THEN LET X=X+L(l,
1).L(1+1,3)=X,GOTO 17

GOSUB 7.L(1,3)=T.L(d+1,4)=X,;L(I+1,5)=Y

NEXT I,IF A=0 THEN RETURN

IF R=2 THEN LET T=T+PI# -L(N,1)

IF C(H,1)<>0 THEN 22

IF R=1 THEN LET C(H,1)=X,W=0,RETURN
C(H,1)=T,C(H,2)=X.C(H,3) =Y. E(0)=0,E(1)=0:E(2)=0.GOTO 30

IF R=1 THEN LET W=X-C(H,1).GOTO 24

XX # =SIN(T - C(H,1)):E0) = ATN(XX #/SQR(1 - XX # XXX #)).E(1) =
X-C(H,2),E(2)=Y-C(H,3)

IF Q>1 THEN 29

PRINT v .oiie ?£DY + Yeeanne ”

IF R=1 THEN PRINT ‘W =7; USING GY; W100015; PRINT “mm”, PRINT
VS =75, Km”,GOTO 29

GY=Yg###.8#", PRINT “"Wa=";USING GY;E(0)%180%3600/Pl#;,
PRINT“sec”, PRINT “Wx =7, USING GY;E(1)X10001;; PRINT mm”, PRINT
\Wy =7; USING GY;E(2)%100015;: PRINT mm”

PRINT * ¢S) =7;INT(S);*m”,PRINT “1,T=1,”;INT (S5/SQR (E(1D"2+E
(2)"2))

IF R=1 THEN RETURN

FOR I=0 TO 2,FOR I=0 TO 2. N#(I,D=0,T(I,1)=0,5,1)=0;NEXT I,
NEXT I

FOR I=0 TO N,GOSUB 40;FOR J=0 TO 2,FOR K=0 TO 2.T{,K>=T
(J,K) + A(NDXAK)IXA(3),NEXT K;NEXT J;NEXT I
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FOR I=0 TO N—1,GOSUB 42,FOR J=1 TO 2,FOR K=1 TO 2,S(J,K)=
SU,K) + A(DXAK)I¥A(3), NEXT K,NEXT J,NEXT I

FOR I=0 TO 2,FOR J=0 TO 2. N#(I,ID)=N=# (I, + T, +S,I), NEXT
J:NEXT 1,N#(0,0)=1/N#(0,0)

FOR K=0 TO 1,D=K+1,FOR I=0 TO K.E=0,FOR J=0 TO K.E=E+
N#([,L1)XN#(,D).NEXT I.N#(D,D=E
N#(D,D)=N#(D,D)~N#(D,DXN#(,D),NEXT I.N#(D,D)=1/N#(D,
D)

FOR I=0 TO K,FOR J=1 TOK,N#{,DH=N#{,D+N#(D,DHXN#(D,D
X¥N#(D,D),N#(J,D=N#(,]); NEXT ]
N#(D,[D==N#(D,D)XN#(D,D,N#([,D)=N#(D,]); NEXT [,NEXT K,
RETURN

A@B)=MO; A(0)=1: A(1)=(L(,5)—Y) : A(2)=(X—=L(I,4));IF I=N THEN
LET A(0)=-1

RETURN

A(0)=0:A(1)=COS(L(I,3)): A(2)=SIN(L(I,3));: A(3) = MA + MBXL (I, 2)"2
/1000000y ; RETURN

F=1/S;IF G<P THEN LET 1=G.,J=G,GOSUB 66; W(G)=W(G)—WXF
IF H<P THEN LET [=H,J=H,;GOSUB 66; W(H) = + WXF

IF G<P AND H<P THEN LET F=-F,I=G,J=H.GOSUB 88

RETURN

FOR I=0 TO 2,FOR J=0 TO 5,B(I,])=0,NEXT J,NEXT I

IF G<P THEN LET B(0,0)=1.B(1,1)=1,B(2,2)=1:B(1,0) =(L(0,5)-Y);
B(2,0)=(X—-L(0,4))

IF H<P THEN LET B(0,3)=-—1;B(1,4)=—-1:B(2,5)=—1

FOR I=0 TO 2;FOR J=0 TO 5;E=0,FOR K=0 TO 2,E=E+N=#,K)¥
B(K,]);NEXT K,D#(1,])=E,NEXT J,NEXT I, RETURN

GOSUB 82; FOR [X=A TO B, FOR 1Y=IX TO B,F=0, FOR IW=0 TO
2: F=F+BUW, IX)XD# (W, 1Y), NEXT IW, GOSUB60;, GOSUB 66;
NEXT 1Y

FOR IW=0 TO 2, W(D)=WD) +D#(IW,IX)XE(W),NEXT IW,NEXT,I
X,RETURN

[=3%G+IX,IF IX>2 THEN LET [=3XH+IX-3

J=3%G+1Y,IF 1Y>2 THEN LET J=3xXH+IY-3

D=I,RETURN

GOSUB 70;E=E+F,GOSUB 72, RETURN

IF I<J] THEN RETURN

IT=1,1=],]=IT,RETURN

GOSUB 68,IF I>U/2 THEN LET E=M(U-1,U~J-1), RETURN
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71 E=M(I,]); RETURN

72 GOSUB 68;IF I>U/2 THEN LET M(U-I,U-J-1)=E,RETURN

73 M(1,1) =E,RETURN

74 FOR I=0 TO 2,E=0,FOR J=0 TO 2,E=E+N#{,DXE().NEXT I, A(D
=E,NEXT I,IF Q=1 THEN RETURN

75 GOSUB 82, FOR IX=¢0 TO 2,E=0,FOR IY=A TO B,GOSUB 62,E=E-D#
(IX,IV)X X NEXT 1Y,E(IX) =E-A(IX),NEXT IX

76 X =C(H,2);Y=C(H,3).FOR I=0 TO N.GOSUB 40.GOSUB 78. VT =VT +
VV.L{,1)=L(,1)-V.NEXT I

77 FOR 1=0 TO N-1,GOSUB 42,GOSUB 78, VS=VS+VV,Lc,2)=LI,2)-V,

78

79
80
81

82
83
84
100
102

104

106

107
108

109

110
111

112
113

NEXT I,RETURN

E=0,FOR J=0 TO 2,E=E+A(DXE);NEXT J,V=EXA(3),VV=VXE;R
ETURN

DY="Z="+STRY(L% +1){ RETURN

MO =SQR ((VS+ VT)X1000000: /3)(Z-P));PRINT “*Mo="; USING GY;MO
GY=Ys####.,##", PRINT "Mb=", USING GY; MOX206.265%SQR (M
0); : PRINT%sec”, PRINT “Ms="; USING GY; MOXSQR(MA +MB);, PRINT
mm/km”, PRINT ,RETURN

A=3,IF G<P THEN LET A=9¢

B=2,IF H<P THEN LET B=5

RETURN

CLEAR.OPEN “dx.dat” FOR OQUTPUT AS #1

RESTORE 300,DEFINT D,G,H,I,],K,N,Q,R,U,Z,P,DEFDBL A,B,C,E,
F,L,M,S,T,V,W,X,Y.READ R,M%,P,Z,Q.PRINT R,M%,P,Z,Q. IF R
=1 THEN LET U=P,;IV=1,GOTO 106

READ MO,MA,MB,0,; MO = (M0O/206.265)"2: MA =MA"2, MB=MB"2, Pl # =
3.1415926535# ,U=3%P,1 V=3

DIM Z(Z—1).FOR I=0 TO Z—1,READ Z();NEXT I,DIM C(M% +P, 3),
A(3),E(2),M(U/2,U-1)

IF R=1 THEN OPEN “dh.dat”FOR OUTPUT AS #2

DIM L(Q,6),B(2,5),D#(2,5),N#(2,2),5(2,2),T(2, 2), R#(2,2),W(U-1),
X(U-1)

FOR I=P TO P+M% -1:FOR J=0 TO IV,READ C, I),PRINT C(I, I):
NEXT J,IF R=2 THEN LET Y# =C(I,1);GOSUB 180, C(I,1)=X#
NEXT I

FOR L% =0 TO Z-1,GOSUB 79;1F R=2 THEN LET CY="C="+STRY
(C% +1)

PRINT CY+DY.GOSUB 10.IF R=1 THEN GOSUB 44;GOTO 114
GOSUB 50,GOSUB 55
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NEXT L%.:RESTORE 310:M(0,0)=1/M(0,0);:1F U=1 THEN 121

FOR K=0 TO U-2,PRINT CY+* Q,U="+STRY(X +2)

FOR IX=0 TO K;X(1X)=0,FOR 1Y=0 TO K,I=1X,J=1Y,GOSUB 70.F
=E,I=1Y¥,]=K +1,GOSUB 70

X(IX)=X{IX)+EXF,NEXT 1Y, NEXT I1X,1=J],GOSUB 70.F=E,FOR I=
0 TO K,GOSUB 70

F=F-EXX{I).NEXT [,F=1/F,E=F,GOSUB 72, FOR I=0 TO K,FOR ]
=1 TO K.,GOSUB 70

E=E+X(D)HXX(J)X¥F,GOSUB 72, NEXT J.E= -FXX(I),GOSUB 72, NEX
T I, NEXT K

FOR IX=0 TO U-1,X(IX)=0,FOR IY=0 TO U-1,1=1X,J=1Y,GOSUB
70, XAX)=XAX) -EXW(IY), NEXT IY, NEXT IX
GY=%s###.##",IF O=0 THEN LET Q=1,GOTO 147
VS=0,VT=0.K1# =0, K2# =0, K3# =0

FOR L% =0 TO Z-1,GOSUB 79, PRINT CY+" ST,”+DY, GOSUB 10, S
GOUB 59, GOSUB 74,GOSUB 82

FOR K=0 TO 2,FOR IX=A TO B,F=9,FOR IY=A TO B,GOSUB 60.G
OSUB 70, F=F+D# (K,IY)XE, NEXT 1Y

B(K,IX)=F,NEXT IX,NEXT K

FOR I=0 TO 2,FOR J=0 TO 2,E=0,FOR K=0TO 5, E=E+B{,K)XD#
(J,K).NEXT K

R#(L,D=N#,)-E,NEXT J, NEXT 1

FOR I=0 TO 2,FOR J=0 TO 2,A=0.B=0.E=0,F=0,FOR K=0 TO 2. A
=A+R#(,K)XS5K,D
B=B+R#(LK)XTK,D,E=E+N#(,K)xS(K,D.F=F+N=#({, K)YXTK
,1), NEXT K

B,H=A,B(L,L]+3)=B,D#(,H=E.D#,J+3)=F, NEXT I, NEXT I
FOR 1=0 TO 2,FOR J=0 TO 2.K1# =K1# +B(I,H)XD# (J, D, K2# =K2
# +B(L,HxD#{,1+3)

K3# =K3# +B(L,]+3)XD#{,1+3), NEXT J,NEXT I, NEXT L¢%.RESTO
RE 310

PRINT CY+* ST, F=Ki1#XK3# -K2#XKo# . A=K3#/F,B= -K2#/F,
D# =K1#/F

MS = ABSCAX VS +BXVT) %10000001; MT=ABS(BXVS+D#% VT )X1000000;
IF ABS (MS-1)<<0 AND ABS (MT-1)<0 THEN LET Q=1,GOTO 144
MO =MOMT, MA=MAXMS.MB=MBXMS,C% =C% +1

FOR J=0 TO U-1,FOR I=0 TO U/2,M(L,I)=0, NEXT I, W{J)=0. NEXT
J,GOTO 111

144 PRINT v 7 + CY,PRINT *Mot="; USING GY;MT, PRINT *Mos="; USING
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146
147
148

150
152

154
156

157

158

159
160

162
163
164
166

167
168

170
172

180
185
190
200
210
220

230
240
250

GY;MS,GOSUB 80

IF R<>1 THEN 148

FOR I=0 TO P-1,C{,1)=C1,1)-X(), NEXT [,GOTO 150

FOR I=0 TO P-1,FOR J=1 TO 3.,C(,Hh=C(,I)+X (3%1+]-1), NEXT
J,NEXT I

FOR L% =0 TO Z-1.GOSUB 79, PRINT *LP.,” +DY,GOSUB 10

IF R=1 THEN FOR I=0 TO N-1,V=L(,2)/SXW. L, D=L ,1)-V.V
V=VV+VxV/L,2)%1000000; . NEXT I, GOTO 156

GOSUB 74,FOR I=0 TO 2,E(I)=A(D).NEXT I, GOSUB 76
A=0,GOSUB 13, PRINT ,FOR I=0 TO N-1,AY=STRY((L (1,00 +",”+S
TRY(LA+1,0))+v="

BY=STRY (L(I+1,0)+V=".EY= sz #a#.2####",FY="tu#tuas#
#.#8###"

IF R=1 THEN PRINT “h”; AY; USING EY;L(,1), PRINT “H”; BY; USIN
G EY;L({1+1,3). GOSUB 250 GOTO 164

X# =L(,3),GOSUB 220, L(1,3)=Y #

PRINT “A”; AY;USING “## ##.#####"; L(,3),PRINT “S”;AY;U
SING EY,L(,2)

PRINT “X”;BY; USING FY;L(I+1,4), PRINT “Y”; BY; USING FY; L(I+1,5)
GOSUB 260

NEXT I, PRINT ,NEXT L%

RPINT, IF R=1 THEN LET MO=SQR (VV/(Z-P)), PRINT *MO=",
USING GY; MO;,PRINT “mm/km”

IF R=2 AND O=0 THEN GOSUB 80

PRINT » ... Mpp-++-”, FOR K=0 TO P—1,IF R=1 THEN LET I=K,I=
I, GOSUB 70, GOTO 172

I=3%K+1,]J=1, GOSUB 70,F=E,I=1+1,J=1, GOSUB 70.,E=E+F
PRINT "M’ +STRY (C(K,0))+%=7; USING GY; MOXSQR (E);, PRINT*m
m”, NEXT K,END

REM deg-rad

Pl# =3.1415926535# . IK = INT(Y #),LLy =(Y# — [K)>100, IP=INT (LLy)
RRy =CINT((LL; -1P)>1000)/10. X # =1K + IP/60 # RR /3600 #

X# =X#XPl#/180#.RETURN

REM rad - deg

X# =X#X180 /Pl#, Y# =FIX(X#), Yi# =(X#-Y#)X60, Yo# = (Y1#
~FIX(Y1#))X60

Y#=Y# +FIX(Y1#)/100+ Y2# /10000,

RETURN

L(I+1,3)=INT(1000X(L(I+1,3)+.0005)>/1000
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252 DH1=L(I+1,0).H# =L(I+1,3), WRITE #2,DH1,H#.RETURN

260 L(I,4)=INT(1000%(L(I,4)+.0005))/1000. L(I,5) =INT(1000X(L(I,5) +.00
05))/1000, L(I1,2) = INT(1000¢(L(I,2) + .0005))/1000, L(I,3) = INT(10000% (L
(1,3)+.00005))/10000

265 DH=L(1,0), X=L([,4), Y=L(I,5),ZD=L(1+1,0).S=L(,2), AA=1(,3

270 WRITE #1,DH,X,Y,ZD,S,AA,RETURN

300 DATA 2,2,2,5,5,2.5,5,5,41,3,2,4,5,3

301 DATA 13,326.38287,739728.28,764871.86,1,278.17078,734794.12,767117.76

310 DATA 1,110.10093,1417.007,3,122.33461,1465.983,8,0,0

311 DATA 8,118.37078,1019.052,7,224.31502,0

312 DATA 8,179.1754,1019.152,9,184.25481,1406.677, 14,127.54351,1133.418

313 DATA 13,136.00469,0

314 DATA 13,236.24001,1111.352,11,129.35064, 1246.065,6,209.00018,1372.415

315 DATA 5,43.28424,1542.47,7,0,0

316 DATA 7,112.29255,1556.885,10,170.49069,1142.261,13,181.46214,0

M2 EHAEREWURERE (XYH)

5 REM xyh.,bas

7 TY="n"

10 OPEN “dx.dat”FOR INPUT AS #1

20 OPEN “data.dat” FOR OUTPUT AS #3

30 OPEN “dh.dat”FOR INPUT AS %2

35 DEFDBL X,Y,H,S, A

40 IF EOF(1) THEN 140

50 INPUT #1,DH,X,Y,ZD,S,AA

60 PRINT DH,X,Y,ZD,S,AA

70 IF EOF(2) THEN GOTO 170

80 INPUT #2,DH1,H=#

90 PRINT DHi1,H#
100 IF DH=DH1 THEN LET TY =%y”, GOSUB 145, GOTO i9
110 IF DH<>DH1 THEN LET TY="n”, GOTO 70
120 GOTO 70
140 CLOSE, GOTO 1000
145 PY =vtd”
150 WRITE #3,DH, X, Y,H,ZD,S,AA,PY, RETURN
170 IF TY="*n” THEN LET H=100. GOSUB 145
180 CLOSE#2,GOTO 30
1000 REM INPUT “MkiscfE4”, F1Y
1010 OPEN *DATA,DAT” FOR INPUT AS #3
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1020 I=1, PAG=1,GOSUB 1400

1040 REM int(i/29)=1/29

1045 IF EOF(3) THEN GOSUB 1700, GOSUB 1475 .I1=1+1,GOTO 1040
1050 INPUT #3,DHY,XY,YY,HY,ZDY,SY,AY,PY

1052 IF HY =%100” THEN LET HY ="~

1055 DD=VAL(AY)

1110 D1=INT(DD), D2=INT((DD-D1)X100), D3=INT ((DD-D1-D2/100)%10000)
1115 D1Y =STRY(D1). IF D1<100 THEN Di1Y=" 7 +STRY(D1)

1117 IF Di<10 THEN D1Y =" 7+ STRY(D1)

1120 D5Y =%”,D2Y =STRY(D2), IF D2<10 THEN D2Y =" 7+STRY(D2)
11256 D3Y =STRY(D3).IF D3<10 THEN D3Y =% 7 +STRY(D3)

1130 AY=D1Y +% 7+ D2Y + " 7+ D3Y

1140 DH=LEN(DHY), IF DH<2 THEN DHY =" 7+ DHY

1142 IF DH<4 THEN DHY =" 7 +DHY

1145 ZD=LEN(ZDY),IF ZD<2 THEN ZDY =" 7 +ZDY

1150 IF ZD<4 THEN ZDY =" 74+ ZDY

1152 IF PY =%td” OR PY=“TD”’THEN LET PY =% 47"

1154 IF PY="mz” OR PY=“MZ” THEN LET PY ="k

1156 IF PY =‘“tong” OR PY =“TONG” THEN LET PY ="\ g”

1158 IF PY =%dtd” OR PY=*DTD” THEN LET PY =“k4&4]”

1160 GOSUB 1500, 1=1+1,GOTO 1045

1400 GOSUB 1720

1410 LPRINT TAB(13)y “ il 55 A8 5 B 5 R B0 K7

1412 LPRINT CHRY(28); W7, “\”

1415 LPRINT CHRY(28)+“k”, LPRINT CHRY(27);%+7; 1"

1420 LPRINT * 19944E7F] 10H7; TAB(80); V8”7, PAG, “Ii”

1430 LPRINT » 7777 I I [ A
1440 LPRINT ™~ 777777 [ 7

1445 LPRINT Y] | AR [ R l L7
1450 LPRINT sy | K

1455 LPRINT M| K 8 | e S S | S S
1460 LPRINT Y | R F2 |7

1465 LPRINT™ | [ XM | YA | HM) | M 7y
1470 LPRINT™ ., , ,, | |7

1475 IF INT(I/28)=1/28 THEN GOSUB 1600, LPRINT CHRY (21). GOTO
1400, GOTO 1045

1477 LPRINT % Lo | N N Do I_” ;

1480 LPRINT % e "

1490 RETURN
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1500 LPRINT™ | 7;DHY; TAB(11); Y| 7 3 XY;TAB(23); “|” YY;TAB(35"|”
s HY; TAB®5)N | ¥
1510 LPRINT ZDY; TAB(55); “|”;SY; TAB(65);% | "; AY; TAB(79); “|”; TAB
(83); PY; TAB(91); M| ”
1520 GOSUB 1475, RETURN
1600 LPRINT“| o R [ o [ | 73
1610 LPRINT | | [ 7
1620 LPRINT TAB(54); “fil#%”s TAB(74); “##". I=1+1,PAG=PAG +1,IF EOF
(3) THEN END
1622 RETURN
1700 LPRINT V| | 1 1 [
1710 LPRINT 1 | 7, RETURN
1720 WIDTH “LPT1,”,250
1730 LPRINT CHRY(27); ‘@”
1740 LPRINT CHRY(28);%&”;. LPRINT CHRY(28); ‘K”; CHRY (28); VW7, 17
1750 RETURN
Wa= 1.42sec
M3 (FERFEFH) Wr= 1.35mm
C= Wy= 1.81mm
M., = 1.00 Sy = 1019 m
M,.= 1.00 1.T=1, 451624
M,= 1.00 A8, 7= 269.38106
M, = 1.265ec S 8,7= 1019.0538
M,= 3.56mm/km X 7=1737315.8710
------ Z= 1eeee Y 7= 766063.5513
Wa= 0.,18sec .. Z= Feeeore
Wx= -1.,60mm Wa= 4.62sec
Wy= -0.78mm Wx= 21.62mm
(Sy = 2882 m Wy= 4.44mm
1.7=1,1619014 (S = 3559 m
A1, 3= 28.27171 1.T=1,161266

S 1, 3=1417.0078
X 3= 736039.9444
Y 3= 767792.9141
A 3, 8=331.01033
S 3, 8= 1465.9836
X 8=1737322.3405
Y 8= 767082.5845
voreneZ = Qecnvre

4 8,9= 330.,18570
S8 9= 1019.1503
X 9= 738207.7462
Y 9=766577.8825
A9, 14= 334.44443
§ 9, 14= 1406.6747
X 14 = 739479.9746
Y 14= 765977.7420
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A 14, 13= 282.39174
S 14, 13=1133.4157
X 13= 739728.2802
Y 13= 764871.8598

...... Z= feeeres
Wa= 0.20sec
Wx= -1.64mm
Wy= -10.71mm
(S = 5272 m
1. T =1. 486486
A 13, 11= 203.02282
S 13,11= 1111.3520
X 11= 738705.5876
Y 11=764436.8849
A 11, 6= 152.37344
S 11, 6= 1246.0655

X 6=737599.0490
Y 6= 765009.8175

Y 5=

764970.8569

A 5,7= 45.06192

§5, 7=

1542.4704

X 7= 737315.8713
Y 7= 766063.5513

...... 7= Geesoes
Wa= 1.50sec
Wx= 3.50mm
Wy= 16.94mm
S$» = 2699 m
1. T=1. 156014

A 7,10= 337.35436

S7,10=

1556.8877

X 10=738755.2383

Y 10=

765470.1528

A 10, 13= 328.24501

S 10,13=

1142.2629

X 13=739728.2798
Y 13=764871.8592

A6, 5= 181.37363 .. Mppeeeeee
S 6,5=1372.,4152 M 8= 7.96mm
X 5= 736227.1869 M 7= 8.,06mm
4 21 BRHASERENER R =
19944 7 A10H B1H
| o o 5 OB BB B oo A -
a5 EH AR A
| xao | v HOW (m) A
1 734794.12 767117.76 51.953 3 1417.008 28 27 16 ®
3 736039.944 767792.914 51.903 8 1465.984 331 1 3 7®
8 737322.341 767082.585 56.697 7 1019.054 269 38 11 % £
8 737322.341 767082.585 56.697 9 1019.15 330 18 56 ®
9 738207.746 766577.883 54.894 14 1406.675 334 44 43 R #
14 739479.975 765977.742 54.345 13 1133.416 282 39 16 % &
13 739728.28 764871.86 53.234 1 1111,352 203 2 27 % 4
11 738705.588 764436.885 52.103 6 1246.065 152 37 33 % i
737599.049 765009.817 52,081 5 1372.415 181 37 35 % 4
5 736227.187 764970.857 53.564 7 1542.47 45 6 19 %
7 737315.871 766063.551 53.764 10 1556.888 337 35 44 g H
10 738755.238 765470.153 54.234 13 1142.263 328 24 49 ® &
2. (LT #MEFHY, WL BiRst, 1990,
8 £ X ™ 10

1o FENe BF2E T BRTINNREL W™
FEZKPC—1500 ZFF. LR #H%E,1988,3
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